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Please read the following text and images, and answer the questions in Chinese or English.
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The "Bus Dynamic System" is an information technology integration system designed to provide real-time

location and operational status information for public buses. Overall, it brings both advantages and

disadvantages to urban transportation.
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Enhancing operational efficiency High construction cost
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Improving passenger experience High electricity demand
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Optimizing traffic management Possible real-time information inaccuracy
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Facilitating city development Potential risk of exclusion for the
technologically disadvantaged
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Here are the various possible modes of the "Bus Dynamic System":

Smart Bus Stop
Smart Transportation

Connecting Smart City Environments

Stationary
Kiosk Display
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Question 1: 30%

Please refer to the following 8 SDGs listed and select 3 of them that can be achieved by implementing
the "Bus Dynamic System." Write down 2 benefits that this system can achieve for each selected SDG

goal. (Each benefit is worth 1 point, totaling 6 points)
United Nations "2030 Sustainable Development Goals" (SDGs):
SDG 2 Zero Hunger: Ensure food security, end hunger, and promote sustainable agriculture.
SDG 3 Good Health and Well-being: Ensure and promote healthy lives and well-being for all ages.
SDG 5 Gender Equality: Achieve gender equality and empower all women and girls.

SDG 9 Industry, Innovation, and Infrastructure: Build resilient infrastructure, promote inclusive and

sustainable industrialization, and foster innovation.

SDG 11 Sustainable Cities and Communities: Make cities and human settlements inclusive, safe,

resilient, and sustainable.

SDG 12 Responsible Consumption and Production: Ensure sustainable consumption and production
patterns.

SDG 13 Climate Action: Take urgent action to combat climate change and its impacts.




SDG 14 Life Below Water: Conserve and sustainably use the oceans, seas, and marine resources for

sustainable development.
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Question 2: 70%

The implementation of a "Bus Dynamic System" has its advantages, but it may also have drawbacks or
negative impacts. Please describe a possible negative impact and propose your solution. Your solution

should include:

1. Specific Plan (6 points) (e.g., name, project description, implementation method)
2. Required Resources (4 points)
3. Expected Benefits (4 points)
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